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The simple past of TO TRY 
is …

A. Tryed

C. Tyred D. Try

B. Tried
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A. Monday B. January 

C. Saturfay D. Wednesday

The day of the week after 
Tuesday is …
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B. Garden 

C. Kitchen D. Bathroom 

A. Bedroom

The room in the house 
where you sleep is a …
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A. Two hundred and 
twenty

D. Twelve
C. Five hundred and 
twelve

B. Four hundred and 
twenty

Continue with the next 
number: 117 – 218  - 319 …
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A. Look and kei

C. Watson and  
Hill  

B. Mike and 
Key

D. Lock and Key

The detective’s names from 
the story are… 
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B. I not am…

D. I didn`t be …

A. I don’t am … 

C. I´m not …

The negative of “ I am tall 
and thin” is …
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A. Butcher B. Waiter

C. Policeman D. Baker

The person who makes 
bread and cookies for you is 
a…
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A. …are perfect

C. …have to visit a 
teacher D. … are not English 

B. …have got a cold

If you have a temperature 
and headache you…
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B. know

D. homeC. dawn

A. Down

What of the next words 
rhymes with “town”
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A. Regular verb

D. Name of an 
animal 

B. Noun

C. Irregular verb

Cut is a…
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A. Family Day

C. St. Valentines D. Carnival

B. St. Patrick’s Day

Which is the festivity that 
English people celebrates on 
17th of March?
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A. Egg - Nog B. Milk - Milke

D. Coffee - Kofee C. Elevator - Lift

A word that can  be said 
different by American and 
English people is…
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B. Yes I am

C. Yes I were

A. Yes I did

D. Yes I was

Were you ok yesterday?
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B. My father play 
piano yesterday

C. My father plays 
the piano yesterday

D. My father played the 
piano today

A. My father played 
the piano yesterday 

Only one of these sentences 
is completely correct. Which 
is it?
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C. Eleventh D. Twentieth

A. Third B. Fiveth 

One of the next ordinals is not 
correct. Find it and you will 
get 1 million dollars. Good 
luck!
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